
Run 66  E 5.05 MeV  I 8 uA Run 68  E 5.05 MeV  I 8 uA
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Run 84 E 4.85 MeV  I 50 uA Run 85 E 4.85 MeV  I 50 uA
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2/22/2019 DNeto Bubble Update 3

Pressure

Temp

Run 94 E 4.75 MeV  I 50 uA Run 95 E 4.75 MeV  I 50 uA
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2/22/2019 DNeto Bubble Update 4

Pressure

Temp

Run 100 E 4.75 MeV  I 50 uA Run 108 E 4.75 MeV  I 50 uA
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2/22/2019 DNeto Bubble Update 5

Pressure

Temp

Run 114 E 5.15 MeV  I 2 uA Run 116 E 5.15 MeV  I 2 uA
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2/22/2019 DNeto Bubble Update 6

Pressure

Temp

Run 133 E 5.35 MeV  I 4 nA Run 134 E 5.35 MeV  I 4 nA
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